SmallRig

HawkLock Quick Release Cage Kit for
Canon EOS R5 Mark Il
fEARE EOS R5 Mark Il “E" RIFIHFIEEH

(5029 / 4977)

Operating Instruction / #2E#53|

Thank you for purchasing SmallRig's product.
RREEIESE SmallRig 7= &,

Please read this Operating Instruction carefully.
ERAFRZE, BFRDEREES.

Please follow the safety warnings.
EERMAESRTITUEERREESINMERES.




Specifications / =@ B4

W 5029
Product Dimensions 6.2 x56x7.3in
RRY 1565 % 1418 x 184.8mm
Product Weight 14.3+0.20z
FRER 406.7 + 6.0g
Material(s) Aluminum Alloy
FEMR S
HawkLock Quick Release  x 1 HawkLock Quick x1
In the Box Cage Release Top Handle
agse RERRIE g EFR
USB-C & HDMI Cable Clamp x 1 Guarantee Card x1
USB-C & HDMI%;3& REF
Tempered Glass Screen x1 Operating Instruction  x 1
Protector 2
ey BFiES|
W 4977
Product Dimensions 6.2x 4.7 x 2.5in
PR 156.5 x 118.5x 64.0mm
Product Weight 7.5+0.20z
FTRER 211.7+6.0g
Material(s) Aluminum Alloy
FEMR S
HawkLock Quick Release  x 1 Guarantee Card x1
In the Box Cage RigF
e AERRIE
Tempered Glass Screen  x 1 Operating Instruction  x 1
Protector B3|
WL

* Compatibility / 3 #&1%: Canon EOS R5 Mark |1 / ££&8 EOS R5 Mark Il

* BASHIENH, ULVRE, BARBTEM.
Specifications subject to change without prior notice. Please refer to the physical
product for the most up-to-date information.




Product Details / ==@RNE
Cage / {AIRIE

@ 1/4"-20 Threaded Hole
1/4"-20 RHF

@ 3/8'"-16 Threaded Hole
3/8"-1688417L

@ ARRI 3/8"-16 Locating Hole
FISE(ARRIZERIFL

@ H38 Arca-Swiss Quick Release Plate
BRIFRT-RAUE BREAR

® H21 NATO Rail
ESisieES

@® H18 Cold Shoe Mount
RIS H

@ Strap Slot
BRSO

QD Socket
QDA

® Dual-Head Wrench
WL F

1/4"-20 Locating Hole
174°-20 BALFL




AEBRIF EIRFH / HawkLock H21 Quick Release Top Handle
g

@ 1/4"-20 Threaded Hole @ 1/4"-20 Locating Hole
1/4"-2092 807, 1/4"-205E 7L

® H18 Cold Shoe Mount @ H21 NATO Rail
BRIFRH RIFIBS

Cage Installation / A RIER & H B

(1) Before installing, Please remove the two locating blocks on the sides of the
cage by the Dual-Head Wrench.
TERFIARIER, BEAICIRFIREARER NS ECLER.,




a: Put the camera into the cage from back to the front, and then secure
the cage use the Dual-Head Wrench to tighten the 1/4"-20 screw at the base.
@ HENNEERBAENERIE, AEEICURFIFEEN1/4'-2082

%, HEEERRIE.
: Secure the cage and camera strap slots by tightening two locating

blocks on the sides of the cage.
COEERUEMER, HEEERRETENETE.

* The package does not include
the camera.

*ENNEFESE




Top Handle Installation / FFiR&3EH18

(1): Press the unlock button to slide the HawkLock H21 Quick Release Top
Handle into the NATO rail at the top of the cage.
RTRYURE, BRIFBE L FRBARRIERSEER.

* The package does not include
the camera.
* ENWNEESI




HDMI & USB-C Cable Clamp Installation
HDMI & USB-C£ LR35 B

0 : Install the cable clamp to the cage by tightening the thumbscrew.
BU—-AFITRYE, BELRRENERE.

* The package does not
include the camera
BB FS Y

@ Insert the HDMI & USB-C cable.
#BAHDMI & USB-C%.,

e Tighten the thumbscrew to secure
the cable.
O I RFIPRLEELM.

W\
X \\\ 0
« The package does not -

include the camera
* NS ERE




Manufacturer: Shenzhen Legi Innovation Co., Ltd.

Add: Rooms 103, 501 and 601, Building 5, Fenghe Industrial Park, Nos. 1301-50
Guanguang Road, Longhua District, Shenzhen, Guangdong, China.

FHER: RYTREEFRBBIRAT

ol PERER B REXKREEHT B XL 1301-50 SFFA TR
"5 51103, 501, 601

Consignor: Shenzhen LC Co., Ltd
Add: Rooms 602, Building 5, Fenghe Industrial Park, No. 1301-50 Guanguang Road,
Xinlan Community, Guanlan Street, Longhua District, Shenzhen, Guangdong, China

EEEORIHREREERAS
dotik: SPERERNHREXWRAERT B XMW 1301-50 SEMTIE
I F5 5 1% 602

HATHRE: GB/T 26572-2011 LQ-P1386-18

ROHS CE ® s & &

Séparez les éléments avant de trier




